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Ctl: Aitken (sol) mode SO, burden (kg m?)
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Ctl: Accum-mode SO, burden (kg m?)

Mean = 2.35334e-06

le-7 2e-7 5e-7 1le-6 2e-6 5e-6 le-5 2e-5 5e-5

Mean = 6.83186e-08

le-7 2e-7 5e-7 1e-6 2e-6 5e-6 le-5 2e-5 5e-5

Ctl: Accum-mode OC burden (kg m?)

Mean = 5.27935e-07

le-7 2e-7 5e-7 1e-6 2e-6 5e-6 le-5 2e-5 5e-5

Ctl: Accum-mode SS burden (kg m?)

Mean = 1.91346e-07

le-8 2e-8 5e-8 le-7 2e-7 5e-7 le-6 2e-6 5e-6

Mean = 2.39972e-06

Exp: Accum-mode SO, burden (kg m™®)

le-7 2e-7 5e-7 1e-6 2e-6 5e-6 le-5 2e-5 5e-5

Exp: Accum-m

T
= T

ode BC burden (kg m?)

Mean = 6.53654e-08

le-7 2e-7 5e-7 1e-6 2e-6 5e-6 le-5 2e-5 5e-5

Exp: Accum-mode OC burden (kg m™)

Mean = 5.06603e-07

le-7 2e-7 5e-7 1e-6 2e-6 5e-6 le-5 2e-5 5e-5

Exp: Accum-mode SS burden (kg m?)

Mean = 1.94383e-07

le-8 2e-8 5e-8 1e-7 2e-7 5e-7 1le-6 2e-6 5e-6



Height (km)

Height (km)

10

40f
30}

20F

40F
30f

20¢

— Cil
— Exp

1:10°  2¢10° 3¢10° 4¢10° 5e10°
SU accum. mode m.m.r.

o

110" 2.10%° 3.10%° 4.10%° 5.10%°
OC accum. mode m.m.r.

Height (km)

Height (km)

10

40F
30f

20

— Cil
— Exp

40
30f

20F

SS accum. mode m.m.r.

0 2010 4¢10* 6010 810 14107
BC accum. mode m.m.r.
—ct
— Exp ]
0 5.0010"  1.0410° 1.5¢10° 2.0-10%°



Ctl: Coarse mode SO, burden (kg m?)
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Eta (hybrid height)
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Eta (hybrid height)
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